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(l) 4(2x+3)=5(3x— |)
8 x + 12 = |5 x - 5
8 x - |5 x = -5 - 1|2
-7 x = -17
x = |7
7

(2) W% 12457 3

4 (x - 2 - 3 (x - | )y = 12
4 x - 8 - 3 x + 3 = 12
4 x - 3 x = 12 + 5
x = 1|7
2. 2 (x + 1) = x 4+ 5 mr
x + 2 = x + 5
2 x - x = 5 - 2
x = 3 COBD 215N T
X = 6 L) | DOHARENIKRANT S
3 X 6 - a = 5
- a = 5 - 18
- a = -13
a = 13

3. BY¥IS%OREAOEE ¥ gr¥5

(10%DEIEKIZEINSBIE) + (BUDOBIEKIZTEINSBIE) = (8URDBIEKIZEINSRIE)

10 x 300 + 5 xx _ 8 x (300 + x )
100 100 100
3000 + 5 x = 2400 + 8 «x
5 x - 8 x = 2400 - 3000
-3 x = -600
x = 200 %7 200g
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